Check Your Answers:

Q. Find the rule and complete each input-output table.

1. Rule : Add 5

INPUT  RULE

+5
+5

+5
+5

2. Rule : Add 05

INPUT

RULE
+0.5

+05
+05

INPUT
12

17
12.5

29.7

RULE
-25

-25
-25

-25

3. Rule Deduct2.5

4. 1 metre =100 cm

600/100=
ém

INPUT Metres 2

2x100 =

OUTPUT centimetres 200em

600

5. 1 litre = 1000 ml

INPUT = mililiters 200 350

200/1000= 350/1000=

OUTPUT  litres

0.2 liters 0.35liters

OUTPUT

OUTPUT
55

6.8

9
10.5

OUTPUT
95

145

10
27.2

720/100=
79 85
85x100=

720 850cm

6x1000=

6000 475

475/1000=
0.475liters
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